MEEEFEE (7oh—RILE)

1. HiE= BBlEA/N\—53—IT73 ) A—IILyiak4Td ERNI=YF |

2. &= [PFAV—P335DMJ3—F |
3. BBFHT @13R)
(EBHEE(EEESD) w=| 142 ke
@7 h—HRILk
DA% N= 4 | %
@Y AR Ttk =M| 8 e
@1A L =Y DEMFEE (FE(Z LD WERE) A=| 50 Imni = 5OX10°  |m?
ORBERHEERBEOIEYERTZHBOTUA—RLIOBEY Nt=| 2 ES
QEMHELYEBELETOES He=| 913 lmm= 0913 |m
(ABET DHADDH TRV R L=| 300 mm= 03 |m
SIRET 2HMDSH AP ROH DB EDETOIER Le=| 122 Imm(LeSL/2)=
4. BEE S (B ED N T2 B £ E AL TH) "
(DFEFAKERE Kh=| 20 \
FFARERE Kv=Kh2=| 10 \
(DFERAKFHES Fh=Kh-W-9.8=| 27832 IN
(O)FEHAREES Fv=Kv-W-9.8=| 1391.6 IN
(BYF v h—HRILEDEIHR Rp= [h-He—(W-98—Fv)-Lg
L-Nt = 4235.1 N
(®F v H—RILE D AT Q=Fh/N=] 695.8 IN
NToh—RILMNZES BIEHE
D3RG HE 0=Rb/A=| 84.7 |MPa<ft=176MPa
Qe A AE T=Q /A= 13.9 |MPa<fs=101MPa
@B IRELAMERBICRITHHE fts'=14ft—1.6 7 =| 224.1 |MPa
1L, frs SROEEfts=fts', fs>DESfs=HTHIDT fts=| 176.0 |MPa
o= 847 |MPa < fts=| 176.0 |MPa
@7 h— IO %
D7 H—RILE DT % = [BRAHRIBTUH— |
@av9Y—tDEE =| 120 lmm=] 012 m
@RI DIEARS =| 92 lmm=] 0002 m
@ E3IRME Ta=| 8820 | N > Rb=
LEDHERBRRIVTUA—RILMNI+RLEEBEEET 5, '
¥R COFRISHER, [RERBMRRE - BITHEH2014FER] 1285,
FHEERXTUHA—RIMNIDVTOREHEETHY . RROWEBEZRII T 5O TEHYFELE A,
= &
5
- ' L
122 | '
300
B
BT et | e B | 2024-01-16 | HHEBS | WYNB1-7012 [E&E | * |

(4/8)



